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77 FFar~
FADLEES A1 7H

OUTKELHNV: 135689 INFRLSV: 101213141516

(AR PRI )
I SR ST IS TV T N AT

. HRR RS ANE
HERE IS A 40 37 77 6.0 71.0 BG AH

3 if itk 15 47 46 93 21.6 714 ANE

4 fr [E s 43 37 80 8.4 71.6

5 iz KU Pl 45 47 92 20.4 71.6 ANE

6 fir SH HKih 43 46 89 16.8 722

7 47 HH: W E 42 44 86 12.0 74.0 ANE

8 fir Gy N 52 45 97 228 74.2

9 fir ESUR.S 54 50 104 28.8 752

10 {7 fiRH 55 48 103 27.6 75 4 ANE

11 {7 R R— 52 51 103 27.6 75.4

12 iz A s 55 47 102 26.4 75.6

13 fiz #H IER 52 49 101 252 75.8

14 iz /N 53 53 106 30.0 76.0

15 iz FEN BEA 59 53 112 36.0 76.0 TRE

16 7 JIET B 54 48 102 252 76.8

17 L fifde = 51 51 102 252 76.8

18 fir AR HEHE 52 49 101 24.0 77.0

19 fiz TH 7K FEHI 48 46 94 16.8 77.2

20 iz SHH 2 53 47 100 22.8 772 TRE

21 iz B NE S 44 43 87 9.6 774

22 i AH G 46 45 91 132 77.8

23 fir Pl B AT 55 48 103 252 77.8

24 r B 1| SR 56 51 107 28.8 78.2

25 fir HR T A 49 44 93 144 78.6 TRE

26 fif T 1§ 50 51 101 216 79.4

27 fr i Ik 60 56 116 36.4 79.6 el E

28 fir FIH R 58 58 116 36.4 79.6

29 fir LRt B 52 50 102 21.6 80.4
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